40

2-5

H16

(1/20,1/30)
1/5 1/10 1/15 1/20 1/30 1/60 1/100

>2m
1.2
> 2.0m /1.2

2.150><1,000,000><2.0 / 1.2 = 3,583,300 m*
1.122>=<1,000,000><2.0 / 1.2 = 1,870,000 m?
0.279><1,000,000><2.0 / 1.2 = 465,000 m®
0.046>=<1,000,000=<2.0 / 1.2 = 76,600 m®
0.207><1,000,000><2.0 / 1.2 = 345,000 m?
0.082><1,000,000><2.0 / 1.2 = 136,600 m®

1/20 1/30
m/s
1/20 20 360 25 70 85 10
1/30 35 415 30 80 95 10
1/100 85 550 35 100 120 15
km? 51.8 94.5 9.56+ 9.22 7.85 0.3+ 2.57 13.4
km? 2.15 1.122 0.207 0.279 0.082 0.046
m® | 15,100,000 | 11,717,000 | 2,750,000 | 2,442,100 | 1,095,000 173,831
m* | 9,300,000 | 11,612,000 | 2,650,000 | 2,052,100 | 1,040,000 173,831
m 29 42.4 45 31 41 15.8
m 286 106.6 262 71 497 58
m® | 1,000,000 105,000 100,000 390,000 55,000 -
3 93,540 368,000 ) 317,900 _ )
m (H15) (H14.3) (H16.1)

2N

D=




[1720] [135 ] [1720] | /5 ]

3.1 20

(6
(6

(6
(6

(6
(6

[ 17200] [ 1760 | [ 1/30]

20 H16.10.18

2127 1990 522 112
2026 1890 440 112
-101 -100 -82 0
2726 2556 680 144
2506 2337 599 144
-220 -219 -81 0
3059 2877 756 161
2737 2552 675 161
-322 -325 -81 0
3301 3107 811 174
2904 2711 731 174
-397 -396 -80 0

________________________________________________ -
3633 3425 892 191 1
3256 3045 810 191
-377 -380 -82 0 |

1

4167 3931 1034 20
3895 3659 952 220 |
-272 -272 -82 0 |
4328 4089 1094 230 !
4212 3973 1013 230 |
-116 -116 -81 0 _!
m/s

” (100m*/s )

3.2

r=====-=-1

[130 ] [120] |15 ] [120] [ w5 |

1/100| [ 1760 |

30
(6
6 )
6
6 )
(6
6 )
(6
6 )
(6
6 )
(6
6 )
(6
6 )
"6 )
30

2127 1990 522 112
2047 1911 455 112
-80 -79 -67 0
2726 2556 680 144
2590 2420 614 144
-136 -136 -66 0
3059 2877 756 161
2826 2641 690 161
-233 -236 -66 0
3301 3107 811 174
3001 2808 746 174
-300 -299 -65 0
3633 3425 892 191
3247 3038 825 191
-386 -387 -67 0
4167 3931 1034 220
3890 3654 968 220 |
-277 -277 -66 0 :
4328 4089 1094 230 |
4221 3982 1028 230 |
____________________ -07 _ _ _Fwr_ o ___%6__ ______0_I
m®/s
” (100m*/s )
H16.10.18



